ot Aol EGIA & =
Helat Aol skl d o 2ol % F o4& cher wolo}
Sh=7H?

ARl E [ 7|28 () |3 3 28 8 F(%)
A 15000 A=
B 2000 500

@® 253F @ 263 ® 273 @ 28 ® 293



3|
=
%

2l

A o BPAOA A G A0 HHo] 1200 Qo) Y
Yol At 800 9ol wofae, 2RiE] A HS vl
H7k 1300 9 0] £ PAH FAT oA Hagh
1Aho] AR Abok 4 o B Aol A Rtk AT

A=)
U e no

® 374% @ 4z v

@ 61]-3?—_ @ 71]'—‘7_‘



AEIL Aol A g ¥ =53 wjubct v 271 4000 Y 0] 22, 3] Yo
2000 ¥ o|t}. 3]H]7} 6000 L ol2tH, 1 of Qlgyl ¥

olg o] 8¢ o] 3]Y7FI& sk Aol °] 77

@ 23] @ 33 ® 439 @ 53]

™
=

® 63

I

rE g



@ 35,3

@ 315, 1

A2 19

A~
L

gt}

247 of=f 50 HA =t

® 315, 3






T

-2.5314 9] AH ofd 50 HA A9 S o, AT
0.7203 2] 254 off 100 A #t2] 2] =AHE bt & W, a+b 2] T2



7.

4A% a,ba < b) o o

0.xyz 7t At} b 71 2

o e
D g
g
B«

S EE

[¢)

]_

o]

of 7)o s



4567 -
—_— /\ —E- PRPEN L=
39900 0.abcd A\ X a,b,¢c,d=0,1,2,---,9 o]=

OlW, a+ b+ c+d © FS Fotolet,

5
=%



4 .
ﬂ :O_abcd Oﬂ/\‘] a, b, C,d}i'oa 1’...

9990
oltf, a+b+c+d 2 Fke?

@ 21 @ 22 ® 23



